SERVICE

INFORMATION

Service Tool Kits

Some service tasks can be performed much more easily with a specialized tool kit.
BCS America’s Tech Department has sourced these kits for your convenience.

58057227 - PTO Tool (supersedes 90051100)

For easy installation of detent balls and spring in PTO shafts
of 1995 and newer tractors, all models.

Qty | Part Number | Description
1 |58057227 PTO Tool

58058569 - Coupler Extractor

Used for removing/installing coupler on Duplex/Dual
Action Sickle Bar Mowers.

Qty | Part Number | Description
1 [58058569 Coupler Extractor

58158762 - 1/2" Ring Nut Drive Socket

Used for removing/installing ring nut on Duplex/Dual
Action Sickle Bar Mower transmissions.

Qty | Part Number | Description
1 |58158762 1/2” Drive Socket

020.PSTG - Test gauge for PowerSafe Tractors

Easily test transmission fluid pressure of PowerSafe tractors.

Qty | Part Number | Description

1 [3850K2 0-200 PSI Gauge

2 |171821BP 1/8” Banjo Bolt (21MM)
2 |17D1830BP |1/8” Banjo Bolt (30MM)
1

1

HFBO9 Banjo STD 10X10MM
HFIM19 Male 1/8 NPT
1.5 |BQ101B Brake Hose 1/8 ID

1 |MPT3-4 ADPT Pipe #2 CPLG BR MPT3-4
31480180 Copper Washer

Service Bulletin 1-10 10f3

Updated 7/2020



020.RNKOPC - OPC/Handlebar Bracket tool kit

Used in repair or install of nutserts on tractor handlebars and steering columns.

Qty | Part Number | Description

96349A815 | Nut Tool

23275127 Spacer

91290A468 | M8 Head Bolt (100MM)

I

33321018 M8 Nutsert

020.RNKSD - Sweeper Drum & Flail Mower tool kit

Used in repair or install of nutserts on Power Sweeper drums or Flail Mower
bodies.

Qty | Part Number | Description

1 |96349A866 |[Nut Tool & two M10 Head Bolts

5 33321010 Nutsert M10

Service Bulletin 1-10
Updated 7/2020

020.RNKSF - Sweeper Frame tool kit

Used in repair or install of nutserts on Power Sweeper frames (pre-2005 models).

Qty | Part Number | Description
1 |96349A764 |Nut Tool & two M6 Head Bolts
5 |[90720A520 |M6 Nutsert

020.RNK750W - Model 750 Transmission Weight tool kit

Used in repair or install of nutserts on Model 750 tractor’s transmission weight
brackets.

Qty | Part Number | Description
1 |96349A764 |Nut Tool & two M8 Head Bolts (70MM)
5 (33321007 M8 Nutsert

020.RNKMASTER - Master Kit (RNKOPC, RNKSD, RNKSF, & RNK750W)

Qty | Part Number | Description

1 [96349A866 |NutTool & two M10 Head Bolts
1 |23275T27 Spacer

2 |91290A468 |M8 Head Bolt (100MM)
2 |91290A460 |M8 Head Bolt (70MM)
2 |91290A348 | M6 Head Bolt
1 (56142291 Washer

5 [90720A520 | M6 Nutsert

5 (33321007 M8 Nutsert

10 |33321018 M8 Nutsert

5 (33321010 M10 Nutsert

20f3



020.PSPP - PowerSafe Pin Punch, 9.8mm

Can be required when repairing a PowerSafe Clutch, as shown in Service Bulletin
2-21 (Page 18, Step R).

Qty | Part Number | Description
1 |020.PSPP PowerSafe Pin Punch, 9.8MM

020.RCPA - Rear Cover Puller Adapter

Used with slide hammer tool kits (not provided). This is a much easier, more
effective way of removing the Rear Cover and ensures pulling is applied to the
proper place.

Qty | Part Number | Description
1 [020.RCPA Rear Cover Puller Adapter

Service Bulletin 1-10 30f3
Updated 7/2020



